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H1.1
1) -13x-7=84
-13x=84+7
-13x =91
x=91x —L
13
x=-7

H1.2
1) x_+1+2:£_3x—2
3 6 4

dx(x+1)+12x2 2xx-3x(3x-2)

12 12
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4(x+1)+24=2x—-3(3x-2)
4x+4+24=2x-9x+6

4x+28=-7x+6
4x+7x=6-28
11x =-22

x=-2

)

)

4x-7=8-2x
dx+2x=8+7
6x =15

x=15><l
6

0.5(x-2)=14+0.2x

M 21065 L T,
10x0.5x(x-2)=10x(1.4+0.2x)
5(x-2)=14+2x
5x-10=14+2x
5x—-2x=14+10

3x=24

x=8




H1.3
ax-T=a-xlx=-2%RAL T, ax(-2)-7T=a-(-2)

—-2a-T=a+2
—-2a—-a=2+7
-3a=9
a=-3
H1.4
ERFOlEZx & LT, AEOANBICHER LTHEXEZL TS &,
3x+76=4x-23
3x—4x=-23-76
-x=-99
x=99

X oT, AFEDOAEIL, 3x+76 (F72134x-23) 12x=99% AL T,
3x99+76=3x(100-1)+76

=300-3+76=|373 A\




